Each small square of a hundredthé chart represents 1—35 of 1%, or %00 %, or 0.01%.

1 0f 1% or 9 can be represemed on the hundredths chart by shadmg ; of the
hundredths chart, which is 25 squares.

“‘% = 0.25%

| . : v
7 % can be written as a decimal.

L 1% =88 = 2B0=0.0025 |
¥ 100 10000
N 7

1. Fach hundred chart represents 100%. Shade the chart to repzesent the given percent.
30%. . b 7% | Q) 86%

2. Write each percent as a fraction and as a decimal.

3 6%=L- D06

100
b) 87% = 8l . s a7
v .

c) 48% =

% =
3. Each hundred chart represents-100%. What fraction is shaded? Write each fraction as a

decimal and as a percent.

b)

00 — 10000

4735 4295 ’:ﬁE _dS _aigl. 09l5
. 42.75] 0415 _ ;_._QH_ gl

4. Write each percent as a fraction and as a decimal.

a) 48.5% = = D IOEOE, %@g 485% = 0.4%5

b) 1075% Q:%:%;_{QLQ«E@?% ¢ |
10 000 ' 103




2. Find the numbert in each case.

@,(Q, a) 6% of a number is 9. b) 28% of a numberis 56. ¢ 150% of a number is 36.
| 6% =9 28% = _DW 150% = __ A
1% = 1% = 1=
100% = - 100% = | 100% =

\&\ Write each increase as a percent. [llustrate each answer on a number line.

The width of the rectangle increased from § cm to 12 cm.

Insrease=12cm—-8cm =

Increass as a fraction of the original =

Percent increase = X 100% =

b} The priceof a homioom increased from $90.00 to $120.00.

Percent increase =

’\X .
AN
4. Whrite each decrease as-a perév;g\t. Tllustrate each answer on a number line. -

a) The volume of water in the t}n\lirdecreased from 40 L to 32 L.

Decrease =40 L —-32L= N
Decrease as a fraction of the origin;i*; =

Percent decrease = X 100% =

b) The number of students in the class decreased f['}}Q 30to 27.
Percent decrease = o - \ .

Identify which
number represents i
1 whole, or 7
100%.

How many eggs were there in the batch?

base 7

]

hase = amount
% (dec)




4. Calculate the discount, sale price before taxes, and sale price including 13% total tax.

2) $28.95 book at 10% off b) $239 coat at 25% off
Discouﬁt: # o 490 Discount: 3 34 15
Sale price: £ 3605 Sale price: ¥ ! 14 25
T 18% tax 2 5.39 13% tax:_>_&3. 20
| totalcost: S 29 HY Total cost: _> 20255

\ .
5. The cost of a ticket for a CEL game 3 years ago was $36.00, The cost of the ticket has

increased by 25%. Calculate the new cost of the ticket. P
R x 0.2% = ' ) - -
# % - Total cost: % 3ot 9 = o 45

Increase in price:

6. Store A offers successive discounts of 10% one week and 20% the second week,
Store B offers a one-time discount of 25% the second week.

Which store offers the greater discount? Stove B

Store A 5 /10 x 075 = £1.50
slox 09 = 79
$ Qx0op = #1.20
Store @_ offers the greater discount.

oo~ 25 = 1S/
7- At a discount of 25%, skateboards are on sale for $135.

What is the original prlce?
| R3S P80
The original priceis __ {7 &

To find 100°%, first
fined 1%,

8. ATV set, regularly priced at $256, is offered for sale at 25% off. Sales tax is 15%.
a) Calculate the sale price at a 25% discount and then add 15% sales tax to it.

P29 x 0715 = 3192 » 1S = $220.80

\b) Add 15% /taxk the orlgmal pr)/ a.nd\vthen calculate thj:/ alé price at a 25% d{scount

"1 7 : 1
; 5 ; i
% ; gs“ . / '

Which calculation results-in the greater dw

9. The sales tax in Ontario is 13%.
* Janis pays a total of $32.77 for a fishing pole.
Find the cost of the fishing pole before sales tax.

#3277 = #29
LD

111




6. The pr1ces fo;cL a day pass for skiing are: o .
Low Season $52 High Season $o4 ’ , Spring Season: $537

a) Write, the increase in cost from Low Season to’ H1gh Season.
Hlusttate the percent increase on a number line.

E

b) erée the decrease in cost from High Se/ason to Sprlng Season
' Nlustratethe percent decrease on a nu{nber line.”

NI

7. a) The rural population of Quebec is about 1 650 000.
ThlS represents 22% of the population of Quebec Estimate the population of Quebec.

S5O 000
W = 7‘3(3@@%?PL

b) The population of Yukon Territory is about 31 400. Of these, 18 840 live in urban areas.
What percent of the population of Yukon Territory lives in rural areas?

%’é: = 47
%i 400 =~ 1B B4O = 12 SO :x (00% = 40%

8. A fish tank contains 24 L of water. Water is added to increase the volume by 12.5%.
What is the new volume of water in the tank?

24 % 1.126 = 2701

9. Thirty-six percent of a number is 63. Find 124% of the number.

base = &__ = 118 X 124 =

a) Whaf is the new prodnction rate?

,, r‘“‘“""‘z
A00 ¥ @112 = m@& ,
Pro‘b[ems can always be solved
b) What is the new unit cost? i in more than one way. If you
' ~ : cannot solve a problem by one
¥ wz S X 0. %A{ i method, look at the problem
e i from another view foran

1@@ -t * 8;4 '; | ‘ alternative method.
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